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l "Note:  Answers may be written either in English or in
Hindi; but the same medium should be used

throughout the paper.
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Attempt four questions in all. Q. No. 4 is compulsory.
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1. (a) Draw the electronic configurations, the name of

the bonds involved, and describe the geometry of
the molecule :
0

(1) H—JJJ—H (i) CH;=CH,  (iii) CH=CH
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(b) An alkane has a molecular weight of 72, and
monochlorination produces one product only.
What is the compound ? '

(¢) Write down, how can a mixture of compounds be

purified by column chromatography.

(d) Write down two resonance structures for
acetic acid and acetate ion, respectively. Which

one will have greater resonance stabilization ?

135,1,14,2
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(b)

()

)

Give TUPAC names for the following :
(i) CH3—(|3H—'CH2—(|3H—CH30H

CHa CH,

O
(1) CH;;—-E—CHZCH:CHZ

With the help of an example, write down possible

termination steps in a free radical reaction.

Give the mechanism and kinetics of Syl reaction,
between tert-butyl bromide and hydroxide ion.
Write down the order of relative reactivity for a

primary, secondary and tertiary alky] halides.

Write down the structure of dichlorocarbene. How
it1s formed ? 2,121

2. (&) fm=fafiga & [UPAC = faflau -
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(i) CH3—(|3H~CH2—(|?H—CH20H
CHas CHsz
o

(it) CH;—(lIZ—CH;gCH:CHz
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Complete the following reactions :
H A
@  "c=¢  +CHCI
N ’
CH,CH, CH,

(i1i) Me,CO+EtMgl

Write down the mechanism of :
(i) Aldol condensation

(it} Addition of HCN to an alaehyde

Give an example of any two of the following :
(i) Electrophile
(i1) Homolytic bond cleavage
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4. (a) Treatment of 2-bromo-2-methylbutane with KOH

(b

(©)

(d)

in ethano! yields a mixture of two alkenes. What
are their likely structures ?

Put down the structural formula of any two of the
following :

(1) Cis-2- methyl -3-heptene

(i) (E) -2 chloro-2-butene

(iii) (Z)-1—chloro-2-butenc

Write down the order of relative stabilities of

primary, secondary and tertiary carbonium ions. .

How can it be explained ?

(1) Give a method for the preparation of
Ethanethiol.

(i1) Write a note on synthetic uses of Grignard
reagents. 2.2.1.2
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() Tm-2-0fe -3-2em
(i) (B)-2- FARI-2-=2H
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(iii) Heterolytic bond cleavage.

(d) Define specific rotation. On what factors does it
depend ? 2,211 _
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(b)
©

(d)
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(iii) (Z)-1-Fam-2-dH

rerfies, feereh afe el ATt SRt o

Tt <6t whiTe TaTeT | 30 S WHRTET S ehdT &7

) éﬁ-—rm@mmﬁﬁ%’rﬁw|

(i) e aifiedet & wGm 3w w feuph
fafiam)

What is meant by each of the following :
(1) Meso compound

(11) Racemic modification

(iii) Chirality

(iv) Configurational isomers .

Write down important differences between Sn2

and Sy1 reactions.

Give the mechanism and synthesis of tert — Butyl
methyl ether using Williamson’s synthesis.

Which of the following would you expect to be the
stronger acid ?

(1) CH,CICO;H or CHCLCO;H

(1) CH,FCO,H or CH,FCH,CO,H

7 [P.T.O.



Give reasons to explain the above noted
difference. 2,1,2,1
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(1) CH,CICO,H a1 CHCI,CO,H
(i) CHRFCO,H a1 CH,FCH,CO,H
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